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ÍÛæ̃ Û¶ÛÛ : (1) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé. ÜÈÛïõÅ¸ÛÛé …Û×©ÛÜÁõïõ ™öé. 

  (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ ™öÛ¸ÛéÅÛÛ …×ïõ ¸ÛóÊ¶ÛÛé¶ÛÛ ¸ÛæÁõÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé. 

  (3) ¸ÛóÊ¶Û-5¶ÛÛ× Š«ÛÁõ ¾ÛÛ×•ýÛÛ ¾Ûä›÷¼Û …Û¸ÛÛé. 

  (4) Ü¼Û¶Û ›÷ÄõÁõà ÅÛÛ×¼Ûä ÅÛ”ÛÛ¨Û “ÛÜ©ÛýÛäî©Û ÅÛé”ÛÛÉÛé. 
 

1. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¼Ûé ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé. 10 

  (1) (i) ÍÛ¾ÛÛ×•Û …¶Ûé ÜÈÛÌÛ¾ÛÛ×•Û Ü¾ÛËÛ¨Û ÍÛ¾Û›ÛÈÛà, þùÁéõïõ¶ÛÛ× ¼Ûé-¼Ûé ŠþùÛÐüÁõ¨Û …Û¸ÛÛé. 

   (ii) “Û-ÜïõÁõ¨ÛÛé¶Ûà Š©¸ÛÜ«Û, ©Ûé¶ÛÛ× •Ûä̈ ÛµÛ¾ÛÛë …¶Ûé Š¸ÛýÛÛé•Û ›÷¨ÛÛÈÛÛé. 

  (2) (i) …×©ÛÁõ …¶Ûé Í¬ÛÛ¶ÛÛ×©ÛÁõ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ŠþùÛÐüÁõ¨Û …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé. 

   (ii) 10 kg þùÇ¶ÛÛé …éïõ ¸ÛþùÛ¬ÛÙ 15 m/s¶ÛÛ ÈÛé•Û¬Ûà •ÛÜ©Û ïõÁéõ ™öé. ©Ûé¶ÛÛé ÈÛé•Û 10s ¾ÛÛ× 
ÈÛµÛÛÁõà¶Ûé 25 m/s ïõÁõ©ÛÛ× ÈÛé•Û¾ÛÛ¶Û¾ÛÛ× ¬Û©ÛÛé ºéõÁõºõÛÁõ ÉÛÛéµÛà ©Ûé¶ÛÛ ¸ÛÁõ¬Ûà …Û ¾ÛÛ¤éø¶Ûä× 
›÷ÄõÁõà ¼ÛÛÔ ¼ÛÇ ÉÛÛéµÛÛé. 

 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé. 4 

  (1) –ÛÌÛÙ̈ Û ¼ÛÇ¶ÛÛ× ÅÛÛ½ÛÛÅÛÛ½Û ›÷¨ÛÛÈÛÛé. 

  (2) …éïõ ÈÛÛÐü¶Û ÍÛäÁéõ”Û ¾ÛÛ•ÛÙ ¸ÛÁõ ÉÛÄõ…Û©Û¶Ûà 15 min ¾ÛÛ× 48 km/h¶Ûà …˜ÛÇ ¡ö¦ø¸Ûé …¾Ûäïõ 
…×©ÛÁõ ïõÛ¸Ûé ™öé. ¸Û™öà¶Ûà 15 min ¾ÛÛ× 56 km/h¶Ûà …˜ÛÇ ¡ö¦ø¸Ûé ¼ÛÛïõà¶Ûä× …×©ÛÁõ ïõÛ¸Ûé ™öé. 
ÈÛÛÐü¶Û¶Ûà ÍÛÁéõÁõÛÉÛ ¡ö¦ø¸Û ÉÛÛéµÛÛé. 

  (3) Äõ¬ÛÁõºõÛé¦Ùø¶ÛÛé ¸ÛóýÛÛé•Û ¤æ×øïõ¾ÛÛ× ÈÛ¨ÛÙÈÛà ©Ûé¶ÛÛé ºõÜÅÛ©ÛÛ¬ÛÙ ÅÛ”ÛÛé. 

 

2. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ× Š«ÛÁõ …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé. 6 

  (1) ÁõÛéœ×÷þùÛ œ÷ÈÛ¶Û¾ÛÛ× pH¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 

  (2) ÒüþùýÛ¶Ûà ¶ÛÛ¾ÛÜ¶ÛþëùÉÛ¶Û ÈÛÛÇà …ÛïèõÜ©Û þùÛéÁõÛé. 

  (3) ªÛ¨Û …ÈÛÁõÛéµÛÛé 5 Ω, 10 Ω …¶Ûé 30 Ω¶Ûé ÍÛ¾ÛÛ×©ÛÁõ¾ÛÛ× ›Ûé¦øà 12 V¶Ûà …éïõ ¼Ûé¤øÁõà ÍÛÛ¬Ûé 
›Ûé¦éøÅÛ ™öé, ©ÛÛé (i) ¸ÛÜÁõ¸Û¬Û¶ÛÛé ÍÛ¾Û©ÛäÅýÛ …ÈÛÁõÛéµÛ (ii) ¸ÛÜÁõ¸Û¬Û¶ÛÛé ïäõÅÛ ¸ÛóÈÛÛÐü ÉÛÛéµÛÛé. 
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 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¼Ûé ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛé̂ ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé. 8 

  (1) ïõÛ¼ÛÙ¶Û ¶Ûé¶ÛÛé¤øÀä¼Û ÜÈÛÉÛé ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 

  (2) …ÛéÐÕü¾Û¶ÛÛé Ü¶ÛýÛ¾Û ÅÛ”ÛÛé. …ÛéÐÕü¾Û¶ÛÛ Ü¶ÛýÛ¾Û¶Ûä× Ü¶ÛþëùÉÛ¶Û ïõÁõ©ÛÛ ¸ÛóýÛÛé•Û¶Ûä× ÈÛ¨ÛÙ¶Û ïõÁõÛé …¶Ûé 
©Ûé¶ÛÛ× ©ÛÛÁõ¨ÛÛé ›÷¨ÛÛÈÛÛé. 

 

3. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ× ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé. 10 

  (1) ¾Û¶ÛäÌýÛ¶Ûä× ÊÈÛÍÛ¶Û©Û×ªÛ ÍÛ¾Û›ÛÈÛÛé. 

  (2) (i) ¸ÛóÛ¨Ûà ¸ÛéÉÛà¶ÛÛ ÈÛ•ÛâïõÁõ¨Û¶Ûà Äõ¸ÛÁéõ”ÛÛ …Û¸ÛÛé. 

   (ii) ˜Ûé©ÛÛ¸ÛéÉÛà¶Ûà Áõ˜Û¶ÛÛ ÈÛ¨ÛÙÈÛÛé. 

 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé. 4 

  (1) ›÷ÅÛÈÛÛÐüïõ ¸ÛéÉÛà ›÷Ü¤øÅÛ ¸ÛéÉÛà ™öé. ïõÛÁõ¨Û …Û¸ÛÛé. 

  (2) ÈÛµÛÙ¶ÛÉÛàÅÛ ¸ÛéÉÛà¶ÛÛ× ¸ÛóïõÛÁõÛé ÈÛ¨ÛÙÈÛÛé. 

  (3) ýÛÛé•ýÛ ŠþùÛÐüÁõ¨Û …Û¸Ûà, …ÛÐüÛÁõÉÛè×”ÛÅÛÛ ÍÛ¾Û›ÛÈÛÛé. 

 

4. (A) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé ¸Ûíéïõà ïõÛé̂ ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ× …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé. 6 

  (1) ÉÛíé“ÛÜ¨Ûïõ ÍÛÛµÛ¶ÛÛé¶ÛÛ× Š¸ÛýÛÛé•Û¾ÛÛ× µýÛÛ¶Û¾ÛÛ× ÁõÛ”ÛÈÛÛ¶Ûà ¼ÛÛ¼Û©ÛÛé ›÷¨ÛÛÈÛÛé. 

  (2) ÜÈÛßÛÛ¶Û ÜÉÛ“Û¨Û¶Ûä× Š¸ÛýÛÛéÜ•Û©ÛÛ ¾ÛæÅýÛ ÍÛ¾Û›ÛÈÛÛé. 

  (3) ÜÈÛßÛÛ¶Û ÜÉÛ“Û¨Û¶ÛÛ× ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä…Ûé¶ÛÛ× ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 

 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¼Ûé ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û …éïõ ¸ÛóÊ¶Û¶ÛÛé …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé. 8 

  (1) ÜÈÛßÛÛ¶Û¶ÛÛ× ïõÛé̂  …éïõ …éïõ¾Û ¾ÛÛ¤éø …Û•Û¾Û¶Û-Ü¶Û•Û¾Û¶Û ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà¶Ûé ¶Ûà˜Ûé¶ÛÛ 
¾Ûä°ùÛ…Ûé¶Ûé …¶ÛäÅÛ“Ûà¶Ûé ¸ÛÛ¥ø …ÛýÛÛé›÷¶Û ¶ÛÛêµÛ ©ÛíéýÛÛÁõ ïõÁõÛé. 

   � ÉÛíé“ÛÜ¨Ûïõ ¾Ûä°ùÛ 

   � ÜÉÛ“Ûïõ¶Ûà ¸ÛóÈÛèÜ«Û 

   � ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä…Ûé 

   � ¾ÛæÅýÛÛ×ïõ¶Û 

  (2) Ü¶ÛþùÉÛÙ¶Û …é¤øÅÛé ÉÛä× ? Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û¶ÛÛ× …ÍÛÁõïõÛÁõïõ Š¸ÛýÛÛé•Û ¾ÛÛ¤éø µýÛÛ¶Û¾ÛÛ× ÁõÛ”ÛÈÛÛ¶Ûà 
¼ÛÛ¼Û©ÛÛé ›÷¨ÛÛÈÛÛé ©Û¬ÛÛ Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û¶ÛÛ× ÅÛÛ½Û ›÷¨ÛÛÈÛÛé. 
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5. ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× ¤æ×øïõ¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 14 

 (1) ›Ûé •ÛÜ©Û¾ÛÛ¶Û ¸ÛþùÛ¬ÛÙ¶ÛÛé ÈÛé•Û-ÍÛ¾ÛýÛ¶ÛÛé …ÛÅÛé”Û ÍÛ¾ÛýÛ¶Ûà …“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ …éÈÛà ÍÛäÁéõ”ÛÛ ¾ÛÇé, ©ÛÛé 
©Ûé ïéõÈÛà Áõà©Ûé •ÛÜ©Û ïõÁõ©ÛÛé ÐüÉÛé ? 

  (A) ÜÍ¬ÛÁõ ÐüÉÛé (B) …Ü¶ÛýÛÜ¾Û©Û 

  (C) …˜ÛÇ¸ÛóÈÛé•Ûà (D) …˜ÛÇÈÛé•Ûà 

 (2) ¶Ûà˜Ûé¶ÛÛ ÈÛÛÐü¶ÛÛé¾ÛÛ×¬Ûà ïõÛé¶Ûä× ›÷¦ø©ÈÛ ÍÛÛíé¬Ûà …Ûé™ä×ö ÐüÉÛé ? 

  (A) ÍÛÛˆïõÅÛ (B) Íïæõ¤øÁõ 

  (C) ïõÛÁõ (D) ¤Öøïõ 

 (3) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÍÛÛÈÛÙÜªÛïõ ®ùÛÈÛïõ ïõýÛä× ™öé ? 

  (A) ¸ÛÛ¨Ûà (B) ¸Ûé¤ÖøÛéÅÛ 

  (C) ¼ÛéÜ¶¡ö¶Û (D) …ÛÅïõÛéÐüÛéÅÛ 

 (4) ¶ýÛæ¤ÖøÛé¶Û¶Ûà ÉÛÛéµÛ ïõýÛÛ ÈÛíéßÛÛÜ¶Ûïéõ ïõÁõà Ðü©Ûà ? 

  (A) ¬ÛÛé¾ÛÍÛ¶Ûé (B) Äõ¬ÛÁõºõÛé¦ëø 

  (C) Ü¶ÛÅÍÛ ¼ÛÛéÐÕüÁõ (D) ˜Ûé¦øÜÈÛïõ 

 (5) …éïõ ïõÁõ©ÛÛ ÈÛµÛä ¸ÛóïõÛÁõ¶ÛÛ ïõÛéÌÛÛé µÛÁõÛÈÛ©Ûà ¸ÛéÉÛà …é¤øÅÛé 

  (A) Í¬ÛæÅÛïõÛé̈ Ûïõ ¸ÛéÉÛà (B) ÍÛÁõÇ ¸ÛéÉÛà 

  (C) ¾Ûèþäù©Ûïõ ¸ÛéÉÛà (D) ›÷Ü¤øÅÛ ¸ÛéÉÛà 

 (6) …ÜÍ¬Û …é ____¶Ûä× ŠþùÛÐüÁõ¨Û ™öé. 

  (A) …ÜµÛ˜™öþùàýÛ ¸ÛéÉÛà (B) Í¶ÛÛýÛä̧ ÛéÉÛà 

  (C) ÍÛ×ýÛÛé›÷¶Û ¸ÛéÉÛà (D) ˜Ûé©ÛÛ¸ÛéÉÛà 

 (7) ïõÛ¼ÛÙ¶Û ¸ÛÁõ¾ÛÛ¨Ûä…Ûé ¼Ûà›Û ïõÛ¼ÛÙ¶Û ¸ÛÁõ¾ÛÛ¨Ûä…Ûé ÍÛÛ¬Ûé ______ ¸ÛóïõÛÁõ¶ÛÛé ¼Û×µÛ ¼Û¶ÛÛÈÛé ™öé. 

  (A) ÍÛÐüÍÛ×ýÛÛé›÷ïõ (B) …ÛýÛÛéÜ¶Ûïõ 

  (C) µÛÛÜ©ÈÛïõ (D) ÐüÛˆ¦ÖøÛé›÷¶Û 

 (8) 1 kWh = _______ Joule 

  (A) 3.6 × 106 (B) 3.6 × 103 

  (C) 3.6 × 10–6 (D) 3.6 × 10–3 

 (9) NH3 ïéõÈÛÛé ¸ÛþùÛ¬ÛÙ ™öé ? 

  (A) ¸Ûó¼ÛÇ …éÜÍÛ¦ø (B) Ü¶Û¼ÛÙÇ …éÜÍÛ¦ø 

  (C) ¸Ûó¼ÛÇ ¼Ûé̂ ¡ö (D) Ü¶Û¼ÛÙÇ ¼Ûé̂ ¡ö 
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 (10) ÍÈÛÛÈÛÅÛ×¼Ûà ¸ÛÛéÌÛ¨Û ¸Û±ùÜ©Û¾ÛÛ× ______¶Ûà ›÷ÄõÜÁõýÛÛ©Û ÐüÛéýÛ ™öé. 

  (A) ïõÛ¼ÛÙ¶Û ¦øÛýÛÛéîÍÛÛˆ¦ø …¶Ûé ¸ÛÛ¨Ûà (B) îÅÛÛéÁõÛéÜºõÅÛ 

  (C) ÍÛæýÛÙ̧ ÛóïõÛÉÛ (D) …Û¸ÛéÅÛ ©Û¾ÛÛ¾Û 

 (11) ¾Û¶ÛäÌýÛ¶ÛÛ ÒüþùýÛ¾ÛÛ× ïéõ¤øÅÛÛ ”Û×¦øÛé …ÛÈÛéÅÛÛ ™öé ? 

  (A) 2 (B) 3 

  (C) 4 (D) 6 

 (12) …Ûé¡öÛé¶Û Í©ÛÁõ¶ÛÛ –Û¤øÛ¦øÛ¾ÛÛ× 80% ½Û×•ÛÛ¨Û ïõÁõ©Ûä× …•Û©ýÛ¶Ûä× ¾Ûä”ýÛ ÍÛ×ýÛÛé›÷¶Û ™öé. 

  (A) îÅÛÛéÁõÛˆ¦ø …ÛýÛ¶Û (B) ÍÛÅºõÁõ …ÛýÛ¶Û 

  (C) îÅÛÛéÁõÛé ¹ÅÛÛéÁõÛé ïõÛ¼ÛÙ¶Û (D) ¾Ûé•¶ÛéÜÉÛýÛ¾Û …ÛýÛ¶Û 

 (13) …Û•Û¾Û¶Û-Ü¶Û•Û¾Û¶Û …Ü½Û•Û¾Û ïõýÛÛ …µýÛÛ¸Û¶Û ÍÛæªÛ ¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé ? 

  (A) ¾Ûæ©ÛÙ ¬Ûà …¾Ûæ©ÛÙ ©ÛÁõºõ (B) ÜÈÛÜÉÛÌ¤ø ¬Ûà ÍÛÛ¾ÛÛ¶ýÛ ©ÛÁõºõ 

  (C) ÍÛÁõÇ ¬Ûà ÍÛ×ïäõÅÛ ©ÛÁõºõ (D) ¸Ûè¬Û‘õÁõ¨Û ¬Ûà ÍÛ×ýÛÛé•ÛàïõÁõ¨Û ©ÛÁõºõ 

 (14) ÉÛíé“ÛÜ¨Ûïõ Ðéü©Ûä…Ûé¶Ûä× ÈÛ•ÛâïõÁõ¨Û ïõÛé¶ÛÛ ³ùÛÁõÛ Áõ›æ÷ ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛä× Ðü©Ûä× ? 

  (A) ¦øÛñ. ¼ÅÛæ¾Û (B) ¦øÛñ. ¸ÛÛÍÛà 

  (C) ¦øÛñ. ÈÛÛñ¤øÍÛ¶Û (D) ¦ÕøÈÛÛˆ¤ø …éÅÛ¶Û 
 

____________ 
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Instructions : (1) All questions are compulsory. Options are internal.  

   (2) There is indication of full marks to right side.  

   (3) Give answers of Questions No. 5 according to instructions.  

   (4) Improper long answers will be penalised. 

 

1. (A) Answer any one of the following questions in about 750 words. 10 

  (1) (i) Explain homogeneous and heterogeneous mixture and give two 

examples of each. 

   (ii) Mention the production of X-rays, its properties and uses. 

  (2) (i) Explain the difference between the distance and the displacement with 

the help of an illustration. 

   (ii) A body of 10 kg mass is moving with 15 m/s. In 10s its velocity 

increases to 25 m/s. Find in momentum and hence find external force 

required for this change. 

 (B) Answer any one of the following questions in about 125 words. 4 

  (1) State advantages – disadvantages of frictional force.   

  (2) A vehicle, on straight path, covers some distance in 15 min with uniform 

speed 48 km/h and remaining distance in 15 min at uniform speed 56 km/h. 

Calculate average speed of the vehicle. 

  (3) Explain Rutherford’s experiment in brief and give the results. 

 

2. (A) Answer any two of the following questions in about 100 words. 6 

  (1) Explain importance of pH scale in everyday life. 

  (2) Draw labeled diagram of Human Heart. 

  (3) The three resistors of resistance 5 Ω, 10 Ω and 30 Ω are connected with a       

12 V battery in parallel. Determine : 

   (i) equivalent resistance of circuit 

   (ii) total current in the circuit. 
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 (B) Answer any one of the following questions in about 500 words. 8 

  (1) Write a short note on Carbon Nenotube. 

  (2) Write Ohm’s law. Describe the experiment showing Ohm’s law and write its 

conclusions. 

 

3. (A) Answer any one of the following questions in about 750 words. 10 

  (1) Explain human respiratory system. 

  (2) (i) Give an outline of classification  of animal tissues. 

   (ii) Explain the structure of nervous tissue. 

 (B) Answer any one of the following questions in about 125 words. 4 

  (1) Xylem is a complex tissue. – Give reasons.  

  (2) Describe the types of meristematic tissues. 

  (3) Explain food chain giving suitable examples. 

 

4. (A) Answer any two of the following questions in about 100 words. 6 

  (1) Mention points to be kept in mind while using teaching aids.  

  (2) Explain utilitarian value of teaching science. 

  (3) State characteristics of specific objectives in science teaching. 

 (B) Answer any one of the following questions in about 500 words. 8 

  (1) Draw lesson plan for given points to teach any unit of science and 

technology using inductive-deductive method. 

   • Teaching points 

   • Teacher’s activity 

   • Specific objectives 

   • Evaluation   

  (2) What is demonstration ? For effective use of the demonstration method, 

which points should be kept in mind ? State advantages of demonstration 

method. 
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5. Choose the correct option from the given choices for each of the following questions : 14 

 (1) If velocity-time graph for a body in motion is a straight line parallel to time axis, 

what type of motion is the body performing ? 

  (A) Would be stationary 

  (B) Non-uniform motion 

  (C) Motion with constant acceleration 

  (D) Motion with constant velocity 

 (2) Which of the following vehicles has the least inertia ? 

  (A) Bicycle (B) Scooter 

  (C) Car (D) Truck 

 (3) Which of the following is the universal solvent ? 

  (A) Water (B) Petrol 

  (C) Benzene (D) Alcohol 

 (4) Which scientist discovered neutrons ? 

  (A) Thomson (B) Rutherford 

  (C) Niels Bohr (D) Chadwick 

 (5) Tissue containing more than one type of cells is known as  

  (A) Collenchyma (B) Simple tissue 

  (C) Parenchyma (D) Complex tissue 

 (6) Bone is an example of  

  (A) epithelial tissue (B) muscular tissue 

  (C) connective tissue (D) nervous tissue 

 (7) Carbon atoms form _____ bonds with other carbon atoms. 

  (A) Covalent (B) Ionic 

  (C) Metalic (D) Hydrogen 

 (8) 1 kWh = _____ Joule 

  (A) 3.6 × 106 (B) 3.6 × 103 

  (C) 3.6 × 10–6 (D) 3.6 × 10–3 

 (9) What type of substance is NH3 ? 

  (A) Strong Acid (B) Weak Acid 

  (C) Strong Base (D) Weak Base 
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 (10) The autotrophic mode of nutrition requires  

  (A) CO2 and water (B) Chlorophyll 

  (C) Sunlight (D) All of the given 

 (11) How many chambers are present in human heart ?  

  (A) 2 (B) 3 

  (C) 4 (D) 6 

 (12) The most important compound which accounts for almost 80% of the total 

depletion of ozone layer is  

  (A) chloride ion (B) sulphur ion 

  (C) chlorofluorocarbon (D) magnesium ion 

 (13) Which maxims of teaching is used in inductive deductive approach ? 

  (A) Concrete to abstract (B) Specific to general 

  (C) Simple to complex (D) Analysis to synthesis  

 (14) Who had given taxonomy of educational objectives ? 

  (A) Dr. Bloom (B) Dr. Passi 

  (C) Dr. Watson (D) Dwait Alen 

___________ 

 

 

  

   

        
 

 


